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INSTRUCTIONS:

e The total time for this test is 1 hour. Manage your time properly!
e No aids allowed.

e Write your name and identifying information above but keep this test paper closed until
the start of the test is announced.

e You must critically comment on each of the three statements provided below. Each question is
worth 20 points. The total point-value of the test is 60 points.

e This test includes 10 pages.

e Write your critical comments clearly and concisely in the space provided immediately after
each question. Your entire comment must fit in the designated space. No extra
space/pages are possible and you cannot use blank space for other questions.

e Itis bestto write in PENCIL and use an ERASER as needed. This way you can make sure
to fit your final answer in the appropriate space.

o Please write legibly. If | can’t read your handwriting, | can’t award you any marks!



Instructions: Critically comment on the following three statements in the space provided. Each
guestion is worth a maximum of 20 points.

1. Individual banks are not constrained in making loans in the short run, as they can always borrow
needed reserves from other banks. If they do so that will put upward pressure on the overnight
interest rate, and the Bank of Canada will thus supply the needed reserves to maintain the target

for the overnight rate.










2. Some economists argue that investment is determined by savings. At the same time, they
consider savings to be an increasing function of the rate of interest. Therefore, it must be
concluded that an increase in the rate of interest will increase investment.










3. Unemployment is simply an excess supply of labour caused by policies or attitudes preventing
wage rates from adjusting as smoothly as prices do in any well-functioning market. If the
unemployed were willing to work at lower wage rates, the problem would simply disappear.










